



# Microflex 93-243,XS



#### **Product Highlights**

- Ultra long cuff provides extra security over the wrist and forearm
- Unique cuff design prevents roll-down
- Textured palm and fingers for a confident secure grip
- Manufactured without accelerators

#### **Product Applications**

Personal protection Occupational health and safety Sample protection Process protection

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.







### **General Data**

Art. No.	93-243-XS
Pack Size	1,000 Pcs. (10 Bags × 100 Pcs.)
Size	Extra Small
Length	390 mm
Sterile	No
Material	Nitrile
Finish	Fully textured
Exterior	Textured palm and fingers
Interior	Powder-free
Thickness (Finger)	0.17 mm
Thickness (Palm)	0.13 mm
Color	Blue
Ambidextrous	Yes
Cuff	Extended cuff
Elongation after aging (%)	400
Elongation after aging (MPa)	14 MPa
Force at break after aging (N)	6 N
Force at break before aging (N)	6 N
Minimum elongation before aging (%)	500
Reusable	No
Shelf life	3 years
Tensile strength before aging (MPa)	14 MPa

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.







AQL	1.5
EN 1149	In compliance, anti-static properties
EN 16523-1	In compliance
EN 374-2	Level 2
EN 374-4	In compliance, determination of resistance to degradation
EN 374-5	In compliance
EN 420	In compliance
EN ISO 21420	In compliance
ISO 16604 (Part B)	In compliance, protection against penetration by blood-borne pathogens
PPE 89/686/EEC	Personal Protective Equipment (PPE) Category III
PPE Regulation (EU) 2016/425	Personal Protective Equipment (PPE) Category III

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.







## More informations about Microflex 93-243,XS

#### Superior forearm protection

Ultra long cuff design to provide superior forearm protection

Soft durable nitrile material ensures extended protection up to the elbow with a comfortable feel.

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.







#### **All Variations**

PRODUCT NAME		PACKAGING SIZE	ART. NO.
	Microflex 93-243,XS Size: Extra Small Create PDF Data Sheet	1,000 Pcs. (10 Bags × 100 Pcs.)	93-243-XS
	Microflex 93-243, S Size: Small Per Create PDF Data Sheet	1,000 Pcs. (10 Bags × 100 Pcs.)	93-243-5
	Microflex 93-243, M Size: Medium PDF Create PDF Data Sheet	1,000 Pcs. (10 Bags × 100 Pcs.)	93-243-M
	Microflex 93-243, L Size: Large Create PDF Data Sheet	1,000 Pcs. (10 Bags × 100 Pcs.)	93-243-L
	Microflex 93-243, XL Size: Extra Large Por Create PDF Data Sheet	1,000 Pcs. (10 Bags × 100 Pcs.)	93-243-XL
	Microflex 93-243, XXL Size: XXL POF Create PDF Data Sheet	1,000 Pcs. (10 Bags × 100 Pcs.)	93-243-XXL

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

